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Paragraph 3 consists of two parts. 
1p 31 With which sentence does the second part of the paragraph start? 

The sentence that starts with 
A “All that’s” 
B “It moves” 
C “The FA”  
 

1p 32 Which of the following fits the gap in paragraph 3? 
A less a sport appears to be regulated 
B less popular the team selection for a match is 
C more a club ignores its players’ fouls 
D more high-profile a Premier League fixture is 
 

1p 33 Which of the following statements is in accordance with paragraphs 
4 and 5? 
A A lot of sport branches are paralysed when it comes to dealing with 

match-fixing. 
B The FA integrity unit is to be replaced by a cross-sport regulating 

organisation. 
C The FA is apparently failing to face up to the undeniable reality of 

match-fixing. 
D The liaison between the football world and TV advertising should be 

closely monitored. 
 
“The Football League is even sponsored by a gambling organisation.” 
(alinea 5) 

1p 34 Wat benadrukt het woord “even”? 
Citeer de eerste twee woorden van de zin waar het antwoord te vinden is. 
 
 

Tekst 9  Return to the Field 

 
3p 35 Geef van elke van de volgende beweringen over Rosie aan of deze wel of 

niet in overeenstemming is met de tekst. 
1 Marilyn violates the strict codes of conduct when saying goodbye to 

Rosie. 
2 Marilyn’s appearance makes Rosie feel unattractive.  
3 Her undercover role makes Rosie feel incompetent.  
4 Rosie is inspired to aid the French because of her background. 
5 Marilyn has suggested that Rosie take a double amount of cyanide on 

her mission. 
6 Rosie has been interrogated by the Germans as well as the British. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
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“A tear, or tears – first ever, and why this time?” (regel 28-29) 
1p 36 Wordt deze vraag in de tekst beantwoord? 

Zo nee, antwoord “Nee”. Zo ja, citeer het zinsgedeelte dat je antwoord 
ondersteunt. 
 

1p 37 What is the main function of the reference to ‘Romeo’ (lines 37-39)? 
A to clarify Rosie’s change of heart regarding personal safety 
B to elaborate on the kind of firearms Rosie carries 
C to hint at the kind of undercover work Rosie had been assigned 
D to inform the reader of Rosie’s love affair that had ended tragically 
 

1p 38 What do lines 60-79 make clear about the flight into France? 
A German surveillance flights make it difficult to land near the coast. 
B It seems unwise to fly in a straight line to the destination. 
C The latest weather forecast made the pilot change the flight plan.  
D The pilot is fretting about Rosie’s safety. 
E The pilot verifies that Rosie has never jumped from a plane before. 
 
 

Tekst 10  Furloughed? Here’s an idea. 

 
1p 39 Which of the following reflects the writer’s opinion of furlough? 

A Congress should only allow diligent members of staff to go on 
furlough. 

B Federal employees do not deserve furlough because they hardly do 
any work. 

C Furlough is an unacceptable means used by Congress to temporarily 
take employees off the payroll. 

D It is a disgrace that federal employees can take time off with money 
provided by hard-working people.  

E The term furlough is ambiguous and therefore Congress should adopt 
a more suitable term. 

 
1p 40 How can the tone of the article be described best? 

A advisory 
B condescending 
C derisive 
D vindictive 
 
 


